

(1) $a_n = n \cdot (-\frac{1}{n})^{\sin \frac{n\pi}{2}}$

$\left\{ \sin \frac{n\pi}{2} \right\}_{n=1}^{\infty} = \{ 1, 0, -1, 0, 1, 0, -1, 0, \dots \}$

Vybravme' pole. - sove' indexy $n=2k \Rightarrow a_{2k} = n \cdot (-\frac{1}{n})^0 = n \rightarrow \infty$
- indexy $n=4k+1 \Rightarrow a_{4k+1} = n \cdot (-\frac{1}{n})^1 = -1 \rightarrow -1$
- indexy $n=4k+3 \Rightarrow a_{4k+3} = n \cdot (-\frac{1}{n})^{-1} = -n^2 \rightarrow -\infty$

Hromadu' body jsou $-1, +\infty, -\infty$ (0.9)

$\lim_{n \rightarrow \infty} \inf a_n = -\infty$ (nejmensi' hromadu' bod)
 $\lim_{n \rightarrow \infty} \sup a_n = +\infty$ (nejvetsi' hromadu' bod) (0.1)

(1.0)

(2)

$$\begin{aligned} F'(x) &= \left[\frac{1}{2} x \sqrt{x^2-4} - 2 \ln(x + \sqrt{x^2-4}) \right]' \\ &= \frac{1}{2} \sqrt{x^2-4} + \frac{1}{2} x \cdot \frac{2x}{2\sqrt{x^2-4}} - \frac{2}{x + \sqrt{x^2-4}} \cdot \left(1 + \frac{2x}{2\sqrt{x^2-4}} \right) \\ &= \frac{1}{2} \sqrt{x^2-4} + \frac{x^2}{2\sqrt{x^2-4}} - \frac{2 \cdot \frac{\sqrt{x^2-4} + x}{\sqrt{x^2-4}}}{x + \sqrt{x^2-4}} \\ &= \frac{1}{2} \sqrt{x^2-4} + \frac{x^2}{2\sqrt{x^2-4}} - \frac{2}{\sqrt{x^2-4}} \\ &= \frac{1}{2} \sqrt{x^2-4} + \frac{x^2-4}{2\sqrt{x^2-4}} = \frac{1}{2} \sqrt{x^2-4} + \frac{\sqrt{x^2-4}}{2} = \underline{\underline{\sqrt{x^2-4}}} \end{aligned}$$

$\Rightarrow F'(x) = f(x) \quad \forall x \in (2, \infty) \Rightarrow$ F(x) je primitivni' k f(x)
na $(2, \infty)$